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1.

10.

11.

12.

13.

14.

15.

Evaluate / e*sinzx dx.

1
. Calculate / tan~!
0

Evaluate [ sin®z dx.

tan® O sec’ 6 df.

Evaluate

Evaluate [ sec®z dx.

dx,a > 0.

N

i

Calculate / dz.
0 4x2 +9) 3

Evaluate / dz.
V3 —2x — x2

2x — 1
Evaluate / 2* + 20
203 4+ 322 — 22

Evaluate

/
/
/
| =

0«

4222+ 4 1
Evaluate / i roery dx.
3 —a?—zr+1

Evaluate

vVr+4 d
T

[e.e]
1
For what values of p is the integral / - dx convergent ?
. T

1
Calculate / Inz dzx.
0

2

Ty . .
If f(z,y) = R does (x,yl)IEQO,O) f(z,y) exist 7

w2y
—— | if (=, 0,0
Where is the function f(x,y) = ¢ 22% + 3> (z,y) # (0,0)

1 if (z,y) = (0,0)

continuous ?



A (3%9) PP ELEZE 2019.4.17

1 . g
1 §ex (sinx —cosz) + C 7.1 — %4 4
R 7.1 — 1% 5
— — —In 1 — P =B
12 =
1., . 3 o
3 — zsin xcosx—gsmxcosx—i—gz—l—C 7.2 — A 4
sec'' @ 2sec’d  sec’d
4 - .2 — 5|78
T 5 + - +C 7 |78 6
1
5 5 (tanxsecx + In|secx + tanz|) + C 7.2 — IR 8
2 —a®> x i
6 In +—-|+C 7.3 — IR 5
a a
7|3 7.3 — 1% 6
5 . RE
1
8 | —v3—_2z— 22 —sin”! (x;r >+C 7.3 — 4l 7
0 | a4t mpP2r—1— Slfet2+C 74— 15138 2
5 nle| + 5 nf2e ol . |
22 2
10 ?+x—ln|x+1|+ln|x—1|——1+0 7.4 — A8 4
l’_
11 | 2Ve+4+42In|Ve+4-2|-2In|vVe+4+2|+C 7.4 — HRE 9
12 8 7.8 — PlAE 4
13 -1 7.8 — 57 8
14 | % 14.2 — |%& 3
15 | % 14.2 — ¥ A8 37
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